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QUESTION 1

You configured an 802.11n AP to use the 2.4 GHz frequency band and 20 MHz channel width.
In this scenario, how many non-overlapping channels are available for clients to use in Europe?
A 11

B. 4

C.1

D.6

Correct Answer: B

QUESTION 2

Which statement is correct about 802.11 wireless network interfaces?
A. Wireless NICs process all frames that are heard.

B. Wireless NICs use Carrier Sense Multiple Access Collision Detection.
C. Wireless NICs operate in full-duplex mode.

D. A wireless NIC only receives frames destined for it.

Correct Answer: B

QUESTION 3

You are configuring your Mist network and you want to separate certain users into their own networks and VLANSs. You
are concerned about the network\\'s utilization and want to make sure that only a single SSID is sending beacons.

In this scenario, which feature would accomplish this behavior?
A. geofence

B. multiple PSK

C. virtual SSID

D. SSID scheduling

Correct Answer: D

QUESTION 4
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Which two 802.11 amendments operate within the 2.4 GHz band? (Choose two.)
A. 802.11ax

B. 802.11ac

C.802.11a

D. 802.11b

Correct Answer: BD

QUESTION 5

You have discovered an access point that is not connected to the corporate network but it broadcasts the corporation\\'s
SSID.

In this scenario, what is this type of access point called?
A. honeypot

B. neighbor

C. rogue

D. air gap

Correct Answer: B

QUESTION 6
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Root Cause analysis sicameucomys [0 # &
Service Level Metrics Classifiers
Time to Connect Authorization 3%
Association 15%
Internet Services 2%
DHCP 80%

Referring to the exhibit, what do you determine about the site\\'s Time to Connect SLE metric?
A. Successful connect averaged 1.6 seconds.

B. Eighty percent of the Time to Connect failures are related to DHCP failures.

C. All clients cannot connect to the Internet.

D. Time to Connect Association DHCP failures impacted 80% of users.

Correct Answer: A

QUESTION 7

You are troubleshooting a WLAN from a mobile handheld device that displays radio information. You see a signal on the
same SSID from two separate access points (APs). AP A shows a signal strength of -57 dBm and AP B shows a signal
strength of -72 dBm.

In this scenario, which statement is correct?

A. dBm is not a measure of signal strength.

B. The client\\'s signal strength is not known.

C. Access point A has the stronger signal.

D. Access point B has the stronger signal.

Correct Answer: A
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QUESTION 8

You have designed a WLAN to satisfy primary coverage, secondary coverage, and capacity requirements. However,
you still do not have enough BLE radios to satisfy your location requirements. You want to fill the gaps with a low cost,
BLE- only device.

Which Mist device will satisfy this requirement?

A. AP41

B. BT11

C. AP32

D. AP43

Correct Answer: B

QUESTION 9

What would cause reduced Wi-Fi performance?
A. using 40 MHz channels on 5 GHz

B. using a PSK

C. using a single SSID

D. using too many SSIDs

Correct Answer: D

QUESTION 10

Which underlying technology does Mist use to calculate BLE location?
A. trilateration

B. triangulation

C. probability surface

D. time of flight

Correct Answer: C

QUESTION 11

What are three valid administrator roles that you would be able to assign to a user within an organization? (Choose
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three.)

A. Super User

B. View

C. Root User

D. Network Admin
E. Helpdesk

Correct Answer: ABC

QUESTION 12

What does 802.11ac (Wi-Fi 5) specify as the maximum channel width?
A. 160 MHz

B. 60 MHz

C. 20 MHz

D. 40 MHz

Correct Answer: A

QUESTION 13

A user is experiencing DNS problems.

In this scenario, where in the GUI would you be able to see the problems?
A. WLAN tab

B. Live View

C. Clients tab

D. Insights

Correct Answer: D

QUESTION 14

You are designing a wireless network that requires smooth roaming performance and redundant coverage from at least
two access points at every location.

What ensures that both of these functional requirements are satisfied?
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A. co-channel interference

B. secondary coverage

C. primary coverage

D. data rate

Correct Answer: D

QUESTION 15

What is the base subscription required to get started with a Mist access point?

A. Wi-Fi Management and Assurance

B. Virtual Network Assistant
C. Premium Analytics
D. Mist Edge

Correct Answer: A
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